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 تدرب    الفصل السابع      التحليل بتجميع الحدود ) التجميع المناسب(
 حلل بالتجميع المناسب

 7-ص 2- س 7س  ص +  2(   1
 الحل بتجميع  اول 

 (  7-س 7ص (   +   ) 2-س ص  2)    
 1-×  7× س       7              × ص 2×  1-         ص× س ×   2                 

 

 (   1 -) س 7+      (1 -) س   ص2     
 

 (  7ص +2)       (  1  -) س             
 
 

 ================================== 
 الحل بتجميع اخر

 
 (  7-ص  2-س (  +   ) 7س ص + 2)    

 1-×   7    × ص 2×  1-        س×   7     × ص س×    2         

   
 (  7ص +2) 1- (  7ص +2)  س

 
 (  7ص + 2)      (  1  -) س                      

 20-ب  4أ ب+  3-أ  15(  2
 الحل بتجميع  اول 

 ( 20-ب 4أ ب (   +   )   3-أ  5)    
 5×   2×  2×   1-× ب       2×  2         × ب×  أ   3×  1-× أ       3×  5    

 (  5 -ب )    4+      (ب  -  5)     أ  3  
 
   (  + ب  5-)   4+      (ب  -  5)   أ 3
 
 (  ب -  5  )    4 -     (ب  -  5)  أ 3

 (  4-أ 3)       ب( -  5)      
===================================== 

 اخرالحل بتجميع  
 
 ب (   4أ ب +  3-(   +   )  20-أ  15) 
 (  4أ +  3  -) + ب     ( 4-أ  3)  5
 
 ( 4 -أ   3)ب    -   ( 4-أ  3)  5
   ب( –  5)     ( 4-أ  3) 
 

 49-ص 7س +7-(  س ص  3
 الحل بتجميع  اول 

 
    
 
 
 
 
 
 

    ================================== 
 الحل بتجميع اخر

 
    
 
 
 
 
 
 

 ب20أ + 16- أ ب  15- 2أ 12(  4

 بتجميع  اول الحل 
 
 
 
 
 
 
 
 
 

===================================== 
 اخرالحل بتجميع  

 
 

 مابداخل 

 الاقواس

 نظائر

 جمعيه 

 ب(-5) 

 (5-) ب

 

 مابداخل 

 الاقواس

 نظائر

 جمعيه 

 ( 4-أ 3) 

 ( 4أ +3-)


